
Quick Start Guide: 7500 Series Modular Data Center Switches 9

Chapter 3

Rack Mounting the Switch
The accessory kit provides components for installing the switch in two-post and four-post racks.

• Section 3.1 provides instructions for mounting the switch in a two-post rack.

• Section 3.2 provides instructions for mounting the switch in a four-post rack.

The rack mounting procedure is identical for all modular switches. Illustrations in this chapter depict the
mounting of an unpopulated DCS-7508 chassis.

After completing the instructions for your rack type, proceed to Chapter 4.

3.1 Two-Post Rack Mount
To mount the switch to a two-post rack, assemble mounting brackets to the middle of the chassis, then
attach the brackets to the rack. The switch does not support a front or rear mount into a two-post rack.

The accessory kit includes the following two-post mounting parts:

• 2 center-mount brackets

• 20 M4x8 panhead Phillips screws

Figure B-2 on page 30 displays the two-post mounting parts.

3.1.1 Attaching Mounting Brackets to the Chassis

Step 1 Orient the switch chassis and the two center-mount brackets (Figure 3-1 on page 10).

Position the flanges that attach to the rack posts toward the rear of the chassis.

Step 2 Attach both center-mount brackets to the chassis.

Each bracket requires ten M4x8 panhead Phillips screws.

04_Cabling%20the%20Switch.pdf
App_B_Parts%20List.pdf


10 Quick Start Guide: 7500 Series Modular Data Center Switches

Two-Post Rack Mount Chapter 3: Rack Mounting the Switch

Figure 3-1: Attaching the Center-mount Brackets

3.1.2 Inserting the Switch into the Rack

Step 1 Move the chassis to the rack using a mechanical lift (Figure 3-2).

If modules are inserted in the chassis, use the lift carefully to avoid damaging any components.

Step 2 Lift the chassis into the rack. Position the flanges against the rack posts (Figure 3-2).

Figure 3-2: Lifting the Switch Chassis into the Two Post Rack

Step 3 Select mounting screws that fit your equipment rack.

A minimum of four screws is required on each side of the chassis. The accessory kit provides
screws that fit many common equipment racks. When installing the switch into a rack with
unthreaded post holes, nuts are also required to secure the switch to the rack posts.

Center-mount brackets



Chapter 3: Rack Mounting the Switch Four-Post Rack Mount

Quick Start Guide: 7500 Series Modular Data Center Switches 11

Step 4 Attach the bracket flanges to the rack posts (Figure 3-3). Space the screws evenly along the
flange.

Figure 3-3: Attaching Flanges to the Rack Post

After completing the two-post installation, proceed to Chapter 4.

3.2 Four-Post Rack Mount
The switch is mounted onto a four-post rack by assembling a shelf into the rack, then placing the switch
on the shelf.

The accessory kit provides the following four-post mounting parts:

• 2 front brackets

• 4 shelf supports

• 2 back brackets (not needed for racks with threaded holes)

• left shelf

• right shelf

Figure B-1 on page 29 displays the four-post mounting parts.

3.2.1 Assembling the Shelf

Step 1 Attach the front bracket and shelf support to the left front rack post, as shown in Figure 3-4 on
page 12. An up arrow is printed on the shelf support to indicate its proper orientation.

Unthreaded rack holes: Use the M6 screws and cage nuts supplied in the accessory kit.

Threaded rack holes: Attach the front bracket to the post with screws that can be threaded
through the rack post. Secure the shelf support to the post with nuts that fit the screws threaded
through the post.

04_Cabling%20the%20Switch.pdf
App_B_Parts%20List.pdf


12 Quick Start Guide: 7500 Series Modular Data Center Switches

Four-Post Rack Mount Chapter 3: Rack Mounting the Switch

Figure 3-4: Left Front Post Assembly: Four Post Rack Mount

Step 2 Repeat step 1 on the right front rack post, assembling the parts at the same vertical level as
those on the left rack post.

Step 3 Attach the shelf support and back bracket to the left rear post (Figure 3-5-left). The shelf
support must be assembled at the same vertical level on the front and rear posts
(Figure 3-5-right). An up arrow is printed on the shelf support to indicate its proper orientation.

Unthreaded rack holes: Attach the parts as displayed in Figure 3-5-left.

Threaded rack holes: Attach the shelf support to the post with screws that thread into the rack
post. The back bracket is not required on threaded racks.

Figure 3-5: Left Rear Post Assembly and Shelf Support Orientation: Four Post Rack Mount

Step 4 Adjust the left shelf by sliding its components to fit between the front left and front rear rack
posts, as shown in Figure 3-6 on page 13.

M6 Nut

Shelf Support

M6 Nut

M6 Cage Nut

M6 Screw

M6 Screw

Front Bracket

M6 Screw

Front Rack Post

Back Bracket

M6 Screw

Shelf Support

M6 Screw

Rear Rack Post
Front Rack Post

Shelf Supports

Rear Rack Post



Chapter 3: Rack Mounting the Switch Four-Post Rack Mount

Quick Start Guide: 7500 Series Modular Data Center Switches 13

Figure 3-6: Adjusting the Left Shelf

Step 5 Lift the left shelf above the shelf supports installed on the left front and left rear rack posts
(step 1 and step 3). Align the holes (Inset A) and hook (Inset B) with the stubs on the brackets.
Lower the shelf such that the bracket stubs are inserted into the shelf holes and hook
(Figure 3-7 on page 14).

Press down firmly on the shelf to ensure it is seated securely on the rack posts.

Left Shelf

Rear Rack Post

Front Rack Post



14 Quick Start Guide: 7500 Series Modular Data Center Switches

Four-Post Rack Mount Chapter 3: Rack Mounting the Switch

Figure 3-7: Seating the Left Shelf

Step 6 Install the right shelf on the right front and right rear rack posts by repeating step 4 and step 5
to obtain the rack configuration shown in Figure 3-8.

Figure 3-8: Both Switch Shelves Installed

Inset B

Inset A

Inset B

Inset A

Inset A

Inset A

Front Left
Rack Post

Rear Left 
Rack Post

Front Rack
Posts

Rear Rack
Posts

Right Shelf

Left Shelf



Chapter 3: Rack Mounting the Switch Four-Post Rack Mount

Quick Start Guide: 7500 Series Modular Data Center Switches 15

3.2.2 Inserting the Switch into the Rack

Step 1 Move the chassis to the rack using a mechanical lift (Figure 3-9).

If modules are inserted in the chassis, use the lift carefully to avoid damaging any components.

Step 2 Lift the chassis into the rack.

Figure 3-9: Lifting the Switch Chassis

Step 3 Secure the chassis by tightening the four thumbscrews on the front flanges into the rack posts
(Figure 3-10).

Figure 3-10: Inserting the Switch onto the Rack Shelf

After completing the Four-Post Installation, proceed to Chapter 4.

04_Cabling%20the%20Switch.pdf


16 Quick Start Guide: 7500 Series Modular Data Center Switches

Four-Post Rack Mount Chapter 3: Rack Mounting the Switch


	Chapter 3 Chapter 3 Rack Mounting the Switch
	3.1 Two-Post Rack Mount
	3.1.1 Attaching Mounting Brackets to the Chassis
	3.1.2 Inserting the Switch into the Rack

	3.2 Four-Post Rack Mount
	3.2.1 Assembling the Shelf
	3.2.2 Inserting the Switch into the Rack




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /All
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /Helvetica-Oblique
  ]
  /NeverEmbed [ true
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Swiss721BT-Bold
    /Swiss721BT-Roman
    /Swiss911BT-ExtraCompressed
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<


    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>



    /HUN <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 6.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200036002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 6.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>


    /SKY <>

    /SUO <>
    /SVE <>
    /TUR <>

    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 6.0 and later.)
  >>
>> setdistillerparams
<<
  /HWResolution [300 300]
  /PageSize [612.000 792.000]
>> setpagedevice


